X=? | Related Equations Up to 10 Name:
|£J
What fact is missing from this fact family?
0+1=1
1+0=1
1-0=1
1-0=1 1-1=0
1+0=1 0O+1=1 Show your work
|£J
What fact is missing from this fact family?
34+0=3
0+3=3
3—3=0
3—-3=0 0+3=3
3—-0=3 3+0=3 Show your work
|fJ
What fact is missing from this fact family?
1-0=1
1+0=1
1-1=0
Show your work
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B
What fact is missing from this fact family?
0+4+3=3
3+0=3
3—0=3
3+0=3 3—0=3
3—3=0 0+3=3
[+
What fact is missing from this fact family?
4—1=3
3+1=4
4—3=1
(]
What fact is missing from this fact family?
04-3=3
3+0=3
3—0=3
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|ﬂJ
What fact is missing from this fact family?
0+1=1
1+0=1
1-0=1
0+1=1 1-1=0
1+0=1 1-0=1 Show your work
|ﬁJ
What fact is missing from this fact family?
0+3=3
3+0=3
3—0=3
3—0=3 3+0=3
0+3=3 3—-3=0 Show your work
|£J
What fact is missing from this fact family?
5—-3=2
24-3=bh
5—2=3
3+2=5 2+3=5
5—-3=2 5—-2=3 Show your work
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Name:

#10

What fact is missing from this fact family?

1+2=3
2+1=3
3—1=2

Show your work

#11

What fact is missing from this fact family?

3+2=b5
2+3=5
5—-3=2

Show your work

#12

What fact is missing from this fact family?

3—1=2
24+1=3
3—2=1
3—2=1 1+2=3
3—-1=2 2+1=3 Show your work
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Question Answer
#1 choice 2
#2 choice 3
#3 0+1=1
#4 choice 3
#5 1+3=4
#6 3-3=0
#7 choice 2
#8 choice 4
#9 choice 1
#10 3-2=1
#11 choice 1
#12 choice 2
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